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n
Q. 1. If n be a positive and odd integer then the value of fo /2 Cos™x dx is

n-1 n-3 n-5 2 n-1 n-3 n-5 22
(a) n ‘n-2" n—4'§ﬂ (b) n ‘n-2""n-4'3m
-1 -3 -5 2
(c)n—.n—...n— = (d) None of these.
n n-2 n-4 3

Q.2 [[*p()dx =2 [} p(x)dx if
(@) p(2a +x) = ¢(x) (b) (2a —x) = —p(x)
() pRa—x) = ¢p(x) (d) None of these.

Q. 3. Which of the following relation is true
(a)ffAf(x,y)dxdy = ffAf(r cosf,rsin8)d0dr
(b) [ [ ,f ,y)dxdy = [ [, f(rsin@,r cos0)dOdr
(c)ffAf(x,y)dxdy = ffAf(rsinB,rcos 0)rdodr
(d) None of these.

Q. 4. Quadrature is the process of determining the
(a) Length of arc of plane curves (b) Area under plane curves
(c) Intrinsic equation from the polar equation of curve
(d) None of these.

Q. 5. The volume of the solid generated by revolution about the y-axis of the area bounded by the curve

x = f(y), the y-axis and the abscissaey = atoy = b is

(a) [ my?dx (b) [, Zmx?dy
(c) fab wx2dy (d) None of these.
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1. The polar form of the complex numberz = -1 —i s
(a). z = \2e~B3m/4
(b). z = [2e837/4
(c). z = 2e~im/*
(d). z = 2ei™/*
2.1f f(z) = u + v, be an analytic function and |f ()| is constant then which of the
following is not true:
(@). f(z) is constant
(b). f(2) need not be constant
(c). uis constant
(d).

3.If f(z) = u + v, be an analytic function andu = x? — y? then v is:

v is constant

(a). v = xy + constant

(b). v = 2xy + constant

(c). v = —xy + constant

(d). v = constant

4.Thevalueof [, Z dzifC:z=e",0 <t <mis:
(a). im

(b). —im

(c). ™

(d). 0

5. The possible Taylor or Laurent series of the function f(z) = in the region

2z
(z-1)(z-2)
0< |zl <1is:
@) (@) = 25 (1 - 57) 2"
(b). f(2) = 285z (14 57) 2"
@ F@) =T (1-5) 2"

2
(d). f(2) =Tz, (1+

N

1
Zn

Zﬂ.
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Q1.UfA=2i+3j+4k, B=i+j—k C=i—j+kthenAdX (BXC)is

(@) 2i — 4j + 4k (b) 2i + 4j + 4k
(€)2i —4j — 4k  (c)2i +4j — 4k

Q. 2. The necessary and sufficient condition for the vector d(t) have a constant direction is

L dd _ L dd _
(a)a.a—l (b)a.E—O
(c)ax‘;—‘t‘=o (d)ax‘;—‘t‘=1

Q. 3.If 7 = xi + yj + zk, d is any vector, then div(7 X @) is
(a)1 (b) 2
(c)3 (c)O

Q. 4.I1f 7 = xi + yj + zk, # is unit vector of 7. Then div(#) is

1 2
(a) = (b) =
(c)

I%I (d) None of the above
Q. 5. The value of integral fCF. dr where F = (x? + y?)i — 2xyj, where cis the rectangle in the xy
plane boundedbyy = 0,x =a,y = b,x =0, is
(a) —2ab? (b) —2a?b
(c) 2a®b (d) a®b



